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compound: Drug-A_ GeneOff
cell line: CellLine2
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cell line: CellLine3
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compound: Drug-C_GeneOff
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HEl Drug-C _GeneOff 1.4 nM HEl Drug-C GeneOff 2.11 nM HEl Drug-C _GeneOff 3.16 nM HEl Drug-C GeneOff 4.74 nM
Drug-C 1.4 nM Drug-C 2.11 nM Drug-C 3.16 nM Drug-C 4.74 nM
—2.0 DMSO_Drug-C_GeneOff 100.0 % —2.0 DMSO_Drug-C_GeneOff 100.0 % —2.0 DMSO_Drug-C_GeneOff 100.0 % —2.0 DMSO_Drug-C_GeneOff 100.0 %
~0.5 0.0 0.5 1.0 1.5 ~0.5 0.0 0.5 1.0 1.5 ~0.5 0.0 0.5 1.0 1.5 ~0.5 0.0 0.5 1.0 1.5
1.5 1.5 1.5
1.01 1.01 1.01
0.5 S 0.51 S 0.5
o) o)
= e ——— = N e T T T
N R e S = Q.0 T T T EEEEEmEEEEemsT T = 0.01 '
> >
O o
[ c
v )
=) =)
—0.51 = —0.51 = —0.5-
o) )
O o
g g
—1.0- 5 —1.01 5 —1.01
© ©
g g
Std Dev Std Dev Std Dev
—-1.57 - Predicted value = 0.05 Bl score = -0.02 —-1.57 - Predicted value = 0.05 Bl score = 0.06 —-1.57 - Predicted value = 0.16 Bl score = 0.16
HEl Drug-C GeneOff 7.11 nM HEl Drug-C_GeneOff 10.67 nM HEl Drug-C _GeneOff 16.0 nM
Drug-C 7.11 nM Drug-C 10.67 nM Drug-C 16.0 nM
—2.07 DMSO Drug-C_GeneOff 100.0 % —2.0 DMSO Drug-C_GeneOff 100.0 % —2.07 DMSO_Drug-C_GeneOff 100.0 %
~0.5 0.0 0.5 1.0 1.5 ~0.5 0.0 0.5 1.0 1.5 ~0.5 0.0 0.5 1.0 1.5




CellLine3 Bl score Drug-C_GeneOff 72.0

DMSO_Drug-C_GeneOff 100.0 -

0.0

OT'0 = Xew R $0'0- = UlW elue -0> ‘BUAS 0<



% confluency

compound: Drug-A_GeneOff
cell line: CellLinel
Time: 72 h

100 A * ——
80 -
60 -
40 A
@® IC_15=459.23nM
EC_50 = 621.02 nM —S &
201 @ 1C_50=715.90nM
Emax = 23.67 % confluency
— LL4=> fit_curve, R? = 0.9995 X? = 8354757.9 Sum of squares = 4.78
® experiment_data
O T T T T T T T T T L L
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-A
cell line: CellLinel
Time: 72 h

100 A ]
80 A
60 A
40 A
® IC_15=397.68nM
EC_50 = 574.00 nM — > LI
201 @ 1C50=671.17nM
Emax = 22.14 % confluency
— LL4=> fit_curve, R? = 0.9990 X2 = 96911.3 Sumof squares = 9.97
® experiment_data
O T T T T T L L |
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-A_GeneOff and Drug-A

cell line: CellLinel

Time: 72 h
120
100 A u
80 A
60 -
40 A
= fit_curve_Drug-A_GeneOff '~ P
@® IC_50=715.90 nM o]
20 A fit_curve_Drug-A
@® IC50=671.17nM
® Expreiment_data_Drug-A_GeneOff
Expreiment_data_Drug-A
O L T L
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B_GeneOff
cell line: CellLinel
Time: 72 h

100 1 .
*
80 A
60 A
40 A *
*
® IC_15=496.79nM
EC_50 = 652.89 nM
201 @ 1C_50=2826.20nM
Emax = 31.60 % confluency
—— LL4=> fit_curve, R? = 0.9919 X? = 773994835.3 Sum of squares = 60.67
® experiment_data
0 T T T T T T L L | T
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B
cell line: CellLinel

Time: 72 h
100 - o
80 -
60 -
40 *
@® IC_15=509.00 nM *
EC_50 = 738.32 nM
201 @ 1C_50=1980.70nM
Emax = 28.28 % confluency
—— LL4=> fit_curve, R? = 0.9897 X2 = 969566.1 Sum of squares = 79.09
® experiment_data
O T T T T T — 1t 1 1
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B_GeneOff and Drug-B

cell line: CellLinel

Time: 72 h
120
100 A .
- \
\
80 A
60 -
40 L
[
= fit_curve_Drug-B_GeneOff
@® IC_50=2826.20 nM
20 A fit_curve_Drug-B
@ IC_50=1980.70 nM
@ Expreiment_data_Drug-B_GeneOff
Expreiment_data_Drug-B
O T T T T L A L L
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-C_GeneOff
cell line: CellLinel

Time: 72 h
]
100 A [ ] * = o
80 -
60 -
40 A
® IC_15=11.98nM
EC 50 = 11.17 nM
201 @ IC_50 Value outside the tested range!
Emax = 83.85 % confluency
—— LL4=> fit_curve, R? = 0.9794 X2 = 7239440.4 Sum of squares = 5.32
® experiment_data
0

100 101
concentration range log,g from: [1.4 ; 16.0] nM




% confluency

compound: Drug-C
cell line: CellLinel

Time: 72 h
o - o
100 - * .
80 -
60 -
40 A
@® IC_15 Value outside the tested range!
EC 50 = 12.22 nM
201 @ IC_50 Value outside the tested range!
Emax = 91.01 % confluency
—— LL4=> fit_curve, R? = 0.9598 X? = 238597.4 Sum of squares = 4.09
® experiment_data

10!
concentration range log,g from: [1.4 ; 16.0] nM

10°




% confluency

compound: Drug-C_GeneOff and Drug-C
cell line: CellLinel

Time: 72 h
120
L ) Al
100 A - -
80 A
60 A
40 -
= fit_curve_Drug-C_GeneOff
@® IC_50 Value outside the tested range!
20 A fit_curve_Drug-C
@ IC_50 Value outside the tested range!
@ Expreiment_data_Drug-C_GeneOff
Expreiment_data_Drug-C
0

10°

10!
concentration range log,g from: [1.4 ; 16.0] nM




% confluency

compound: Drug-A_GeneOff
cell line: CellLine2

Time: 72 h
100 A
d *
80 -
60 -
40 A
® IC_15=24541nM *
EC_50 = 874.37 nM
201 @ 1C_50=1239.83nM
Emax = 28.76 % confluency
—— LL4=> fit_curve, R? = 0.9726 X2 = 9003085.7 Sum of squares = 163.75
® experiment_data
0= T

102 103
concentration range log,g from: [45.7 ; 33333.3] nM

104




% confluency

compound: Drug-A
cell line: CellLine2
Time: 72 h

100 .
80 -
60 -
40 A
® IC_15=653.49nM * — W
EC_50 = 1128.38 nM
201 @ 1C50=1578.30nM
Emax = 29.52 % confluency
= LL4=> fit_curve, R? = 0.9976 X2 = 7004477.6 Sum of squares = 18.02
® experiment_data
O T T T T T — 1t 1 1
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-A_GeneOff and Drug-A

cell line: CellLine2

Time: 72 h
120
100 A
* *
80 A
60 -
40 A
e =
= fit_curve_Drug-A_GeneOff -
@® IC_50=1239.83nM
20 A fit_curve_Drug-A
@ IC 50 =1578.30 nM
® Expreiment_data_Drug-A_GeneOff
Expreiment_data_Drug-A
O T T T T L A L L
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B_GeneOff
cell line: CellLine2
Time: 72 h

100 ~

(o]
o
1

(@)]
o
1

SN
o
1

20 A

[e]

IC_15 =165.82 nM

EC_50 = 1585.37 nM

IC_50 = 4399.66 nM

Emax = 36.73 % confluency

LL4=> fit_curve, R? = 0.9681 X2 = 1112402494.5 Sum of squares = 126.62

experiment_data

102 103 104
concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B
cell line: CellLine2
Time: 72 h

100

(o]
o
1

(@)]
o
1

SN
o
1

20 A

[e]

IC_15 =841.28 nM

EC_50 = 1630.51 nM

IC_50 = 5070.84 nM

Emax = 42.24 % confluency

LL4=> fit_curve, R? = 0.9907 X2 = 2783063.7 Sum of squares = 43.53
experiment_data

102 103
concentration range log,g from: [45.7 ; 33333.3] nM

104




% confluency

compound: Drug-B_GeneOff and Drug-B

cell line: CellLine2

Time: 72 h
120
100 A
d *
80 A
60 -
40 T '\
= fit_curve_Drug-B_GeneOff
@® IC_50 =4399.66 nM
20 A fit_curve_Drug-B
@ IC 50 =5070.84 nM
@ Expreiment_data_Drug-B_GeneOff
Expreiment_data_Drug-B
O T T T T L A L L
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-C_GeneOff
cell line: CellLine2

Time: 72 h
100 A
W ® * < o -
80 -
60 -
40 A
@® IC_15 Value outside the tested range!
201 @ EC_50Not possible to calculate
IC_50 Value outside the tested range!
= Emax = 95.26 % confluency
@ LL4=> fit_curve, R? = 0.8094 X2 = 939370.4 Sum of squares = 2.60
0

100 101
concentration range log,g from: [1.4 ; 16.0] nM




% confluency

compound: Drug-C
cell line: CellLine2

Time: 72 h
100 * L - * L 2 <
80 -
60 -
40 A
@® IC_15 Value outside the tested range!
EC_50 = 3.26 nM
201 @ IC_50 Value outside the tested range!
Emax = 99.88 % confluency
= LL4=> fit_curve, R? = 0.4415 X? = 56495.5 Sum of squares = 0.02
® experiment_data
0

100 101
concentration range log,g from: [1.4 ; 16.0] nM




% confluency

compound: Drug-C_GeneOff and Drug-C
cell line: CellLine2

Time: 72 h
120
100 A
. * o - o *
80 A
60 A
40 -
= fit_curve_Drug-C_GeneOff
@® IC_50 Value outside the tested range!
20 A fit_curve_Drug-C
@ IC_50 Value outside the tested range!
@ Expreiment_data_Drug-C_GeneOff
Expreiment_data_Drug-C
01— - . . . ——
100 101

concentration range log,g from: [1.4 ; 16.0] nM




% confluency

compound: Drug-A_GeneOff
cell line: CellLine3

Time: 72 h
100 A
[]
L
80 -
60 -
40 A DY
* *
® IC_15=386.64nM
EC_50 = 434.90 nM
201 @ 1C_50=465.74nM
Emax = 32.99 % confluency
— LL4=> fit_curve, R? = 0.9737 X? = 868625.3 Sum of squares = 147.68
® experiment_data
O T T T T T T T T T L T T T T T T L
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-A
cell line: CellLine3

Time: 72 h
100 A
b (3
80 -
60 -
40 A S
e *
@® IC_15=400.58nM
EC_50 = 435.37 nM
201 @ 1C_50=464.88nM
Emax = 30.78 % confluency
— LL4=> fit_curve, R? = 0.9930 X2 = 333108.2 Sum of squares = 49.21
® experiment_data
O T T T T T T — 1t 1 1
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-A_GeneOff and Drug-A

cell line: CellLine3
Time: 72 h
120
100 A
[
L
80 A
60 A
40 A L ~
L (]
= fit_curve_Drug-A_GeneOff
@® IC_ 50 =465.74nM
20 A fit_curve_Drug-A
@ IC_50 =464.88nM
® Expreiment_data_Drug-A_GeneOff
Expreiment_data_Drug-A
0 — —— ——
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B_GeneOff
cell line: CellLine3
Time: 72 h

100 A
[ ] [
80 A
60 A
*
40 A .
® IC_15=1655.72nM
EC_50 = 811.51 nM
201 @ 1C_50=1223.60nM
Emax = 38.71 % confluency
—— LL4=> fit_curve, R? = 0.9633 X2 = 12159434.6 Sum of squares = 193.01
® experiment_data
0 T T T T T T L L | T
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B
cell line: CellLine3
Time: 72 h

100 A *
o *
80 -
60 - .
*
40 A
@® IC_15=993.02nM
EC_50 = 1053.07 nM
201 @ 1C_50=1266.95nM
Emax = 42.75 % confluency
—— LL4=> fit_curve, R? = 0.9675 X2 = 1343453.2 Sum of squares = 161.15
® experiment_data
O T T 1 T T T T T 1
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-B_GeneOff and Drug-B

cell line: CellLine3

Time: 72 h
120
100 A
w @
80 A
60 -
-
40 -
= fit_curve_Drug-B_GeneOff
@® IC_50=1223.60nM
20 A fit_curve_Drug-B
@ IC_50=1266.95nM
@ Expreiment_data_Drug-B_GeneOff
Expreiment_data_Drug-B
O T T T T L A L L
102 103 104

concentration range log,g from: [45.7 ; 33333.3] nM




% confluency

compound: Drug-C_GeneOff
cell line: CellLine3

Time: 72 h
100 A
O
- ry v *
80 -
60 -
40 A
® IC_15=10.82nM
EC_50 = 10.92 nM
201 @ IC_50 Value outside the tested range!
Emax = 68.02 % confluency
— LL4=> fit_curve, R? = 0.9787 X? = 1317396.2 Sum of squares = 15.86
® experiment_data
0

100 101
concentration range log,g from: [1.4 ; 16.0] nM




% confluency

compound: Drug-C
cell line: CellLine3

Time: 72 h
100 - . v . - . =
80 -
60 -
40 A
@® IC_15 Value outside the tested range!
201 @ EC_50Not possible to calculate
IC_50 Value outside the tested range!
= Emax = 88.70 % confluency
@ LL4=> fit_curve, R?2 = 0.9301 X? = 518909.2 Sum of squares = 9.74

0 y T
10!
concentration range log,g from: [1.4 ; 16.0] nM

10°



% confluency

compound: Drug-C_GeneOff and Drug-C
cell line: CellLine3

Time: 72 h
120
100 A
= w7 r - >
80 A
60 A
40 -
= fit_curve_Drug-C_GeneOff
@® IC_50 Value outside the tested range!
20 A fit_curve_Drug-C
@ IC_50 Value outside the tested range!
@ Expreiment_data_Drug-C_GeneOff
Expreiment_data_Drug-C
01— - . . . ——
100 101

concentration range log,g from: [1.4 ; 16.0] nM



